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TED English Presentation Skills
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RIEAE Day 1: Day 2 :
1. TEDHE 1. WM& B E K E K (Presenting graphs and charts)
a. BREHEF - BIEE#EE (Idea is king) 2. MR K & B (Extremes & ranges)
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9. BI=R% A (Write the introduction)
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Skills of English Conference Call
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. ScenarioA : ﬁﬂﬁ:ﬁf%&?‘ﬂau%
* How to establish the purpose of a meeting?
- How to establish a structure for a meeting?
+ How to limit the scope of a meeting?
5. ScenarioB : P2 BR" K" OBE"
+ How to clarify information?
* How to rephrase what the other person has said?
6. Scenario C : YNl sk 2 ¥R FE?
+ How to explain your side’ s point of view?
+ How to ask the other side to understand your viewpoint?
* How to find out the other side’ s viewpoint?
7. Scenario D : I &&R & %7
+ How to end a discussion?
+ Highlight the conclusion of the meeting
- Scenario practice
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